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'LVHxR� 

'LVHxDGR� SDUD� EULQGDU� SURWHFFLyQ� HQ� XQD�
JUDQ� YDULHGDG� GH� VLWXDFLRQHV� GH� WUDEDMRV�
HQ� DOWXUD� FRQ� ULHVJRV� GH� FDtGD� D� GLVWLQWR�
QLYHO�� HVSHFLDOPHQWH� GRQGH� VH� UHTXLHUDQ�
DGHPiV�IXQFLRQHV�GH�SRVLFLRQDPLHQWR�� 

��DUJROODV�ODWHUDOHV�\���GRUVDO� 

 

 

 
,QIRUPDFLyQ�7pFQLFD� 

)DEULFDGR�FRQ�FLQWD�GH�SROLpVWHU�GH����PP�
GH�DOWD�UHVLVWHQFLD�GH������N)�\�KHUUDMH�
IRUMDGR�FRQ�FLQFDGR�DQWLR[LGDQWH� 

 

0DWHULDOHV� 
 

$FHUR�FLQFDGR� 

&LQWD�3RO\HVWHU� 

&RVWXUDV�GH�3RO\HVWHU 
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&XLGDGRV� 

'HEH�VHU�LQVSHFFLRQDGR�GH�IRUPD�
IUHFXHQWH�� DQWH� FXDOTXLHU� GHWHULR�
UR��GHEH�VHU�UHHPSOD]DGR�GH�PD�
QHUD� LQPHGLDWD�� QR� VH�GHEH�PDU�
FDU�� SLQWDU� QL� UD\DU�� HVWR� SXHGH�
SURGXFLU�GHWHULRURV�LPSRUWDQWHV� 

6H� GHEH� HVWDU� SUHRFXSDGR� GH�
XVDU�VLHPSUH�OD�WDOOD�FRUUHFWD� 


